1
’ l-"'hu| .
Pur Combined Cycle Power Station i
. i ) 3 AUON 1S oper; 4 i
®) i"{\‘t_!! veli Lignite Corporation India th'-l"limi by
) Rﬂ!dsllmn State Mines and Minerals [ 4y
o) I\ﬂlaslllmn Rajya Vidyut Utpadan Nipan, 1 4 d
@  daniPower Kawai i
'Q (';"1“3';““!1 not attempled
e Eflm- _msﬁm are w29 frefeafes 4 feagy r denfera & 7
% T feremge fom v ferfinde
ST T e s wfra fafivee
ol T forea 3eams fm fafie
R
E)  sefawm
2 Whohaste
as w 5 - : ¥ il
(A) l_iI]\'E:l*;PE?Emi as the first woman High Commissioner to India by Britain ?
B Tieo asekar (B)  Gill Atkinson {C)  Alicia Herbert
s ¥ -ameron (E)  Question notattempted
e g VI H {5 wem A S ssgE frem far w2
(& T TAEET i N 2
& ®) e wefdma (© ufefam w7
et S E) gEfEws -
ey gi‘-'k‘l‘l below are two statements : h
tate . ; X N )
atement (1) First Prime Minister of India wished to achieve the objectives of Foreign Policy through the
L strategy of non-alignment. L
statement (II):  India ];\'EIS never trying to convince the other developing countries about the policy of
, non-alignment, ‘ady '
In the light of the ab{:!\"tj! statements, choose the most appropriate answer from the options given below,
() Statement (1) is incorrect but Statement (II) is correct. - -
(B} Both Statement (I) and Statement (I1) are correct.
(©)  Both Statement (1) and Statement (I1) are incorrect.
(D) Statement (1) is correct but Statement (11} is incorrect.
(E)  Question notattempted
T TE R E .
WU (l): R wem weres fadw i % st B rehwdem i & weam @ fge we e d)
e (1) Mg‘?ﬁr&mﬁ:—m%aﬁﬁ &= fererasitel S9 Y e A & fog e 3 i of I 6 fwa)
S weAl % e 4, 9 iy e faedt § 4 vl v s
(A) =Y (1) e E A w1 w2
) e (1) SR (1) 3 =@
(© @ (1) SRS (1) S T
®) e (1) TE B, A e (1) T ¥
" Who is the author of song ‘Dharti Dhoran Ri’ ? "
(A) Kanhaiya Lal Sethia (B) Vll-'l)"t?i‘ln Detha (©  Allah Jilai Bai
(@) GavariDevi X (E)  Question notattempted
Capedt +ir fr T A T (dae) @ 2
m Y N - B TaEE A © oo faend i
s radt et ® s em
2
~ B23
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- hof the following i :
A
ﬂ-_lj PAN ®  Bs @  STAR
A3sET . B Quetionng ey
ﬁﬁﬁmm _;" m‘-‘if‘:%&'ﬂi‘.mﬁmgf B
{.l_] FRHAE TS {RIN(“ ol k- LR =T

o AT (PAN)

Given below are two statements -
t(1): V - J
st uf;:: : varkar formed an organization namad “Mitra Mela” during the partiton of Reegal
bAD: B 'S companons and made a bontine of importad chathes
Statement e ish government had imposad a han on Veet Savarkar's
TRl el ot eRedd h‘f"rf“.' i
n e statements, choose the most s fFrom the e RO RIVEN bedow
K\ Statement (I} is falee byt Statement (I s tre, e )
® Both Statement (1) and Statement (1) are troe.
Q Both Sutﬁﬂ'm'l:ll (1) and Statement (I1) are false
D) Statement (I) is true but Statement (11) i false

B e

book, “The Induan War of

® Quesﬁonmtammpwd

mIFEREmE:

FAW: TR B e, T ST ok S R O I TR e e
wUSi =1 g SoR

T (I0): fofrn TR 3 SR e S T T T S e e ¥ W E s R

o

T F L R oSt eS| R
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B SERaT=
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:;rfc'ﬂni;%: ;ii Eil:'lmediai-:i&::tﬂf A but H is not the neightourof Eor DL Frsonthe immadiate rightot Band G

is the neigh E.CistemwemEandF.u-'mtisdm;\mnm&m

(4) ImmediaterightofD ;
4 . oht of A (E! Qum“ﬂl\ﬂ-’.m‘ﬂ\]il\i
D) Immediate right %%ﬁmma&m%m%i SSE R SRR R SR
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10.

11.

12

13.

Aot forsack Viersemmuntl, i rlibes Sate wios 2 morvement 2525054

1 Fiewrme ﬁpmﬂw‘;ﬂﬂt "..';'-‘".'b’)"" Frosmn bede ) Alcoholism
(A)  Frdustries () Poorcondition of farmers © °
0% Agricuituee () Ouestionnot

'S i ey, AT B g e Al

(7= 2 & ooets w5771 7)) )
Lo zrm ® BT O WA
mwy = F) wATE

Which place of Sikar sre2 s f2mons for gota industry 7

(Charme the most appropriste option from below) L
(A) Nexhwa @ Fhoor (C) Piprali
i  ¥handels (E) Question not attempted
(F=fsomgemm T )

sy f=m @ F © v
Vi N ) zZFAvE

In which of the following cities of Rajasthan Mahindra World City is located 7

{A) Udaipur (B) Jaisalmer (O Jodhpur
() Jaipur (E) Questionnotattempted

Tz aE mmimer s e iaEE T e e

(n) TF=F ® T (© THE
JB  FFE | FEEFTE

What is the most appropriate synonym of word “Sociable” 7

(£)}—"Inhospitable (B) Bankrupt ({C) Snob
() Friendly (E) Questionnotattempted

Given below are two statements :

Statement(I):  Fishing can be done only in freshwater ecosystems.

Statement (II):  Fish isa cheap source of animal protein for our food. )
In the light of the above statements, choose the most appropriate answer from the options given below.
(A) Statement (]) is incorrect but Statement (I1) is correct.

(B)  Both Statement (I} and Statement (II) are correct.

(C)  BothStatement (I) and Statement (II) are incorrect.

(D)  Statement (I} is correct but Statement (I1) is incorrect.

(E)  Questionnot attempted

FadsmmmE.:

wFAA(): T TEE FAE e wE T () § A wEa
FaA(ll): FFE AR T F A v WA O A g

v FAl & AvrE H, 4 fag g faged § B AR 30 SO |

(a) wEA () T At e an 54 2

@B mEA (1) Fnwaa (1) 2w

e w0 #nwmam () = @A
w4 (1) T & @5 waw (1) om ¥
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18, '-'u’!'ac:c":'l-.mi been chosen as the recipient of 413 Lokmanya Tilak Award’ ?

(A)  Narendra Moddi (M D K Siwan
) AmitShah (F)  Question nol attempled
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' T

owing places

22.  ‘Critical Minerals Summit, 2024° was held in which of the foll © Surat
(A)  Bhopal (B)  New Delhi 2
(D)  Dhanbad (E)  Question not attempte )
Fretfafaa 4 4 feg wam ' fefera fome v, 2024" ypetford 5 7
(A) = @ T free © %@
D)  wmER () srafa

23.  The ratio of the number of boys and girls ina school is 5: 6. If the percentage inl:rca!.:e P"; annum in the number
of boys and girls be 20% and 30% respectively, what will pe the new ratio aftcr::_:-ne year? R
U Thet H wrgehl ST el o WAl W ST 5 6 &1tz @rSH si wrefwai %1 Hem H wa: 20% H1E 30%

# afifer af Gt & 1w A & 9 T S e ?
A) 11:17 : ® 10:11 (© 10:13
M) 11:13 (E)  Question not aHEmPtEdfaﬂﬂﬁa = SnE
24.  Which of the following trade policies introduced MEIS- Merchandise Export from India SChE':%E’;i &
. E—
(A)  Foreign Trade Policy, 2021-2024 (B) Foreign Trade Policy, 2004-2009 ~T2e 12°
(C)  Foreign Trade Policy, 1991 (D) Foreign Trade Policy, 2015-2020

(E)  Question not attempted
formrfefina & fam AT i T MEIS - e 3 g Fraf e 96 317

(A) Tagw =maw ifd, 2021-2024 @) ok =mr Hif, 2004-2009
© fozwm = Hifd, 1991 (D) fadw = =ifd, 2015-2020
(E) siafa v
25. Following is the full form of SLR in Indian Financial System is:
(A) Statutory Liquidity Ratio (B) StateLiquidity Rate (© StateLenient Rate
(D) Statutory Low Ratio (F)  Questionnotattempted
syt fasita womeht # e # § 9 T R (SLR) P FUE
(A) AeFTER T S (B) T T S © T133R W
@)~ AR =7 S () FTarE we
26. Compute the : Binary Code addition (BCD)
=Tz @1 vfEv (BCD) TaH 1 T0MI
2+3=_121 .
(a) 1111 (B) 0000 © 0101
() 1000 (E)  Question notattempted / STIHI W¥
27.  Which of the following was NOT the immediate major challenge of Independent India ?
(A) Adopted representative democracy
(B) Toaccelerate the rate of industrial development.
(O Shape a nation that was united = |
(D) Development of the society
(E) Question not attempted
Frepferfan # B, i wra 1, T aerfed wE T w9l e
(A) aftitera Wttt e a,
(®) iR o i &t A
o ﬁwﬁmhiﬁm'&:qﬁﬁﬁmgmm
®) e W
6
~ 52 3



https://telegram.me/education_news_rajasthan

.:J.-' : pattanam In 2
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o g PPTOPriate option from below) F which type of industries ?
_gup buﬂdmg ® 1
g’ ron-Stea i
‘D} ing SO e 1 © Automobile
onnot att
E BlIUED éﬁﬁﬂm%m%mm ;? empted
s i F “’ﬂ'& UL Tawey 1)
=
)eu ﬁ"”" ® diesEm © e
o 5_3"““” E) S36E v
; “m“"ﬂs the state of Rﬂjastha_n CU'I.'['IP!E‘. m!}f unified ?
{.‘J' 30 November, 1959 (B)  1November, 1956 (© 30November, 1957
8 * 1November, 1958 (E)  Questionnotattempted
ﬁmmﬂ@mmw?
B 1 TR, 1956 ' © 30 TEIL 1957
(B STguRa ¥
=’ means ‘multiplied by’ and ‘S’ means ‘divided by’, then what would be
=
b Q¥ T 5
o & Sl 's’ wm E A ok 2
; X =
' ) o
®) 31 ey~ 33

(E) Quéstiun notattempted/ a:r:ﬁﬁa PEE

neter of a sphere is 8 cm. Itis melted and drawn into a wire of diameter 4 mm. The length of the wireis:

'mmﬁg|@wﬁ4ﬁﬁm%mﬁa‘mmtmﬁmw:
23123 L. cm : ﬁ__;,___ (B) 1066 i cm © 1266 i
@ <

(E) Question notattemp ted / STTARE WeA

- Df the following tourist centre is not located near Ajmer ?
G (B) Taragarh Fort

() Question not attempted

(O Daulat Bagh

anrg fet © e am
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33, Citvrar bulrer T | |
iven below are tw q.;;t.;h ;m n:s;i.‘; _ - T — i —
adud -1}':1 a 0
village of Alwar.
Dadu gave his teachings on Bra
(sadh ukkadi). l - ' |
i ' ropt ven below.
Inthe "t‘.htnr the above statements, choose the most ﬂp[:lrﬂpn-!le answer from the oplions g

ajasthan) was born onlh

Statement (1) :
at and Moksha in a simple language

Statement (11) : hma, Jiva: Jag

(A)  Statement (1) is incorrect but Statement (I1) is correct.
(B)  Both Statement () and Statement (IT) are correct.

(O)  Both Statement (1) and Statement (II) are incorrect.
(D)  Statement (1) is correct but Statement (1) is incorrect.
(E)  Question notattempted

N 2t e g g E
HEA(I): m(m#ﬁ)mmmmﬁ?ﬂgﬂ;ﬁﬁsﬁnﬁﬁﬁmmnﬁwwmﬁ

ekl
WY (1) mﬁmm(mgﬁﬁ)ﬁm.aﬁa,maﬂﬁmmmﬁaﬁHﬁm
s wer i aei , A e g fred A R Wl TugE SR A |

(A) A (1) e 8, AR e (1) FE 8

By e (1) SR e (1) 2w €

© e (1) 3w (1) SF e ¥

©) U (1) FE &, AHT HET (1) e T

() Hqaf@ws

on a statement followed by two conclusions numbered 1 and Il are given. You have to assume

34. Inthegivenquesti
ent to be true, then consider the two conclusions together and decide which of them

everything in the statem
logically follows.

Statement: India’s economy is depending mainly on forests.

Conclusions: ()  Indiawants only maintenance of forests to improve economic conditions.
(M)  Treesshould be preserved to improve Indian economy.

In the light of the above statements, choose the correct answer from the options given below.
(B)  Ifboth (I) and (II) follow

(A)  Ifonly conclusion (I1) follows
If only conclusion (I) follows

(Q  Ifneither (I) nor (11) follows (D)

(E) Question not attempted
e 7T T, U e 37 T A% 1 SR 11 i forend fom TTa € | Suet o B T T AT ) e wE
£ ﬁﬂﬁﬁﬁﬁﬁﬂﬁmﬂhﬂﬂﬁaﬂ?ﬁ“ﬁﬁﬁﬁaﬁﬁﬁmwﬂ ST A & |

o : wrd 1 sxsferaen w1 w9/ a R R R §

fresd: 0 mﬂaﬁdﬁﬁmﬁﬁﬁuﬁ%mmﬁwmaﬁmwm%y
(m 2t w1 Wi, WA sTeferarea S guRA % o feman s wife)

v e ¥ sl H, A f e fed § 4wl sw T

(A) Syt Foreamd (11) STTHOT A B) (1) 3 (1) T STTE @ )

) FRTE @) ST I E (©) e Frewd (1) ST

o)
R kel
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e, TR e g

- emergency is declared dyq fo thia fatliise i the states. It is invoked

of the constitutional machinery
e 360 ®

cle 356 (E)  Question not attempted %7
L ﬁuﬁmmﬁﬁwxmmﬁmfmm%'“fm s

icle 352
Article 350 © Article

T 352
Sy 360 B) % 350 F e
T 356 . {E} mm
_Had the annual rate of
ited Rs. 8,000 at simple interest which amounted to Rs. 9,200 after 3 years
peen 3% more, how much amount he would have got ? 9900
Es.

10,000 (B) Rs. 9,900 ©

: ; .

9,920 (E)  Question notattempte % s

=3 3
pmﬁqﬂmmmmmﬁﬁqmﬁ:aaﬂmezmmmwwﬁafﬁ

. 9,800

10,000 (B) ¥ 9,900 9/0,0, g‘{_w)g v
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t unit of da o i ©
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st 1 T I Eead
(B) faa ©
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kosh Hydel I’mjectls]omt Vent{l[l: "t Nepal (© Indiaand China
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R Maah Lied wish Lis L
Lis-1 List-T1
Aemonialks Flace
@ aowart Singh's Thada @  Jabalmer
W Ohbatos of Rulers and Paliwals () Bundi
) Chasred Khamdon Ki Chhatn (i)  Alwar
B RaahGuetad (iv) Jodhpur
T P wr g = R e
== T
=s ==

w SRS
& TeSdhodsSiwee
@ :%;;::-:_,/ (v) R
Choose the most appropriate answer from the options given below
RS I T
B @ @3EO-E0-0.@-0)
® @-@R0-03-E@-0
Q @-08-EE-ED-E

vy @- \“‘1&}"‘@#@‘@{5)“@
B Quessdnnotaiempasd/ FFERE 50

e

1. Goven beliow are two strtements: 3
Sateeent (): E&&ﬂmg&tsmhﬁﬂ&m&w&imofﬁa}'ofﬁmgdmdﬁmbhn&a.
Seaterment (ID: R}'&Eﬁgﬂlm;m&mughi&tm;ﬁ&un“ﬁmtghﬁgmuchmmhﬂmHMnn
there is no propes obstruction available in the passage of it
In the Bght of the above statemenis, choose the most appropriate answer from the options given below.
e wmhhmmmt&ﬂmtm)ismt
™ Both Statement (1) and Statement (I1) are correct.
O Both Statement (1) and Statesvent (1) are incorrect.
o wmismmwtmﬂ]]‘si:wm
3} Question not athempiad
== ﬁqﬁﬂﬁﬁaﬁtmm%m%mﬁwﬁﬁt: -
sa=(1D: #ﬁﬁm@um@mﬂﬁﬁmmaﬁmmgaﬁam?ﬁ%mﬁﬁm
ssEs= T R
ﬁgﬁtmﬁxiﬁﬁgm&wﬂﬁ%miimmgﬁ
@ — sl Saab oo R
e w0 Swm A=
o s 0 HEE
™ ‘ﬁﬁm":ﬁt%mm‘mh

i‘L
=E e
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oM I, Sy il
3 ) = 1 e qn ST E
Y (0 3R 1) 3 sy &-mwr @) F0H
2 - Wmm%mmm)m%l
: Eoulic
"‘3: ;mpng the following is the member of the Inter State Council and the Governing Council of Niti Aayog,
n

3 gpeaker of Lok Sabha (B) President (©  Chief Minister of States
3 T _ () Questionnotattempted
Wﬁﬁﬁmmv@ﬁﬁmﬁmmmﬁnmﬁmﬁﬂmmﬁ
l-"-.;..-.-'.-_'- b . " \ ey © ﬂ%w@
l ® -

ST

' 4l of Ministers of Indian Union is collectively responsible to the::
Lok Sabha (B) President (© PrimeMinister
i. Sabha () Questionnotattempted
a5 A v 5 A e @ R 9 ST €A €
: mfg'ﬁﬁam ® T G s

Which of the following is not the alignment of the pragraph S weord. ¥
T (B) LeftAlignment

i3 Question notattempted

.- F T T T E?

(®) =g S ©

(@ Right Alignment

- =
ﬁm] =i

. jn the sentence:
most apprupria!e pmpusit:ion from below It the
these days-
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f the rights of the citizens and in promotion of justic,

8. Theassertive role played by the judiciary in the protection 0 islature and executive is called :

insociety by intervening in areas falling within the domain oty (©  Judicial Review
(A)  Original Jurisdiction (B)  Judicial Actmzm e

S : stion not attempEes i e © H
(D)  Appellate Jurisdiction (E)  Question st fevrdt & eEngeR | ESTELEY

A IfeTER gr AT & Al & e § fryeams yfae
BT TR = & T B 9 e

(A)  smifyy sifimfa (B) ok wfsRadEs
()" srdfteira s () Faia v

49. Who was the Chairman of the committee on financial systems in India,
Assets Reconstruction Fund (ARF) ? )
(A)  Sh.M.Narsimha (B)  Dr. Manmohan Singh
(D)  Sh. Pranab Mukherjee (E)  Question not attempted 1 ” )
I ¥ fodrg wonelt W ot wfifa & sty w9, faeen vfta $ A S (QALTE.) P F
T =i ot ?
(A)  Him, Wi ®) = HaEe fow © & fagam

D) &, o s (B)  STafE v

Read the passage and answer the questions that follow :

In an often-overwhelming world, staying sane means learning to remember and allowing to forget. Phones
wallets, sunglasses, keys, a box of cornflakes, even a ukulele and, once, a gate valve. These are among the things tha
passengers have forgotten in cabs in 2023, according to Uber India’s annual ‘Lost and Found Index’. Further insight
suggest that Delhi is the most forgetful city in India, that people are most prone to absentmindedness in the evening -fron
7 pm to 9 pm - and that the festive days around Diwali tend to make people more distracted than any other time of th
year. No doubt this information is amusing, and even useful - one could, for example, learn to be vigilant about one’
belongings during the weary, post-work cab ride home. But the real lesson here is that forgetfulness is inevitable.

In Remember : The Science of Memory and the Art of Forgetting, the American neuroscientist Lisa Genova explains tha
“a finely orchestrated balancing act between data storage and data disposal” is key to a well-functioning memon
system. In other words, as much as remembering - to turn off the gas, your child’s smile when you return from work ¢
that the deadline for filing tax returns is close - is necessary, so is forgetting - your score in Class X boards, the heartbreal
of anearly love or the time a colleague slighted you. In their own way, both help maintain sanity in an often-overwhelmin;
world. Consider the condition of the titular character in Jorge Luis Borges's story ‘Funes the Memorious’ whose prodigiou:
memory forced him to note the progress of decay, corruption, fatigue and death and doomed him to be “the solitary anc
lucid spectator of... an intolerably precise world”. =
50.  According to Lisa Genova, remembering and forgetting data from your memory is necessary because :

(A) itcan make the person happy and contented (B)  forgetfulness in inevitable

(C)  this can make the person insane (D) it helps maintain sanity

(F)  Question notattempted

© = g

which recommended the setting up o

(C) Sh.P. Chidambaram

51. The main idea in the write-up is :
(A)  Making us learn that forgetfulness is inevitable.
(B)  Urging us to remember the things
(©)  Allowing us to be forgetful
(D)  Asking us to be more vigilant
(E) Question not attempted

The key toa well-functioning memory system is

= .:,A) to note the progress of decay, fatigue and death, =

@) very important to survive in an overwhelming world.

balancing data storage and data disposal.
g reminding to P2y taxes, and forget heartbreaks,
; ttempted
7 stion nota
® Que
12

~ B23
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Fo parjiling and Sikkim |- limalayas b “'Eh part of Himalayan Range 7 st

0 Himachal and Uttarakhang (B)  Arunachal Himalayas

5 Question notattempted Himalyas ) Kashmir Himalayas &"‘.—L’
mﬂmﬂ*mﬁﬁaﬁﬁﬁmmm & feorm 3

B)  zEvmEe fede™d

g foraa 3 I fenrerg B i feHrer
" m[]arrah Game Sanctuary was converted as
) ‘Mukundra National Park (B)  Keoladeo "Ghana National Park
0 - Desert National Park (D)  Sariska National Park
- B Question not attempted
@qwﬂ % &9 4 wftafda fan
) T T (B) HEeneE T e U
ZSFE A U (D) Tt e s
P e i .ga'ﬁf—d
TR .

AT ® FE” (@ wm @ Fem @ wR
By Ferae @ T IR IR T B
%ﬁlﬂ{b), (d) ¥R (e) @® &9 (a), (b) 3 () © Fad (a), (c) 3 (e)
e (c), (d) 3 (€) (E) ST T

the odd one out.

) 5 Wi ged | e R

(E) Question not at tempted/ ST WA
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1 : LS il be e acitof 3 Eon o
9. An on rod of wiiform thickiess of keogth o metne weighs 248 How srachw e ok
the same thickness and cach hav g beagth ot 84w ? _
©) 5k 1 Question notattvenpdnd
: S T SlwsTE s
U T Werd 3 o o) ug Pree ward Ao B b w ;i_ﬁ-ﬁ-\_%. R T Ge MBS H R
W, oy v wy W vad sg HSR
3 L g i
© St ®  sgeReve 2 <
- T
60.  Choose the most appropriate artwcles bor the seadvece given below
'E?ut nf"i“'-’ Bnot  typical story, Inmy story _ Sobsunsgenecces.  Inshmons lopcaland
Englishman is romantic. Oh, iFit's_ fanbastic story Ul Bstvnwith _ pleasure

A _ theanama W-"a:a an ana
© aithethethes O a:Bwthethea
(B Question notattempbed

61.  The total marks obtained by a student in Maths, Scronoa, Social Scieooce and Englich topether is 1450 more then Sy
marks obtained by hum in Scieece and Maths. What i the average morks obtainad by him in Socizl Soence 2
English together ?

AR i, e, v fen kSN i w s T s e ST Ire s d s
E, St fem it i s o s makm s 2

(&) 50 ®m O 0 FHRSHES T
D 0 B Question ot atheeptad /ST 5

62.  Assets Reconstruction Fund (ARF) wias st up for the purpose of
(Choose the most appropriate option from below)
(A) To assist Reserve Bank of India on managing Commendiol Banks
(6) Totakeover the bad and doubtiul debs of Nationulsed Benks and Developmens Firmance Etstione
(O Tofinance the Commercial Banks on low rate
(D) Tofinance the Development Finance lnstitutions on low rates
(B Questionnotattemptad
ofesfa gAfsia [ (ARD $ wew Bt md oy
(Fres § & W SagE fawes )
A apforfeass Al & W ¥ wRds fond 3% v .l § g
®) Wmmﬁmmmtmméﬁmﬂﬁmﬁmf#tfﬂ
© forfers ST B TR T W wn w9 F R
W’mmmﬁﬁmﬁmmmtm

@ FERE

14
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" b 4 : RO i) 2 IS i1y gt i whis
Sl LRI

j 1 il ; “H"lh i

) p,l_lllnhl“ LLEEUIR (R T nfhlane ;-:I L LT TTTR T TR

'y (1] ¥ { | '|, i

4 W'“iu LI AL BT T ol Mg il T
UG TR PIVHIAEH In 12.0)

fhe R UTT T R,

Ty hattary ol OV in adso conne led,

. R ITTLR T ITT

S0 0w ) P10 v
.I]Iillld {1 only l[,:t{ :")ﬂlll'i [hjr:ull*y ik () depand (dyonly
AT A0 G ) vjim-uJJ;“”I”“““”'""""'l"*'f'

11 e ) A 0 Fotaa e oy o) A o0 ) B 1 el foafay 4 frpafenfian

gt 1 1
!' 9 ﬁﬂi‘hﬂiﬂ IRt 0
A ul’ﬁﬂu TR e i 1
g0 TSt i 2 0 Wy
e TR v 0 A 9

1A
(0 (0) 20 (y (19 e () st o) © e (c) S ()
(1) () ANy (1) sttt e
0w @ Bk atadeniontn |
_Tl (1 o i Arbedbar o the Malad Satyagratin in March 1927 10 challenge the regressive
i vtdoinne ol Ehecaste d Hinddos,
I_!l (1 Une A et an bbb e Babisbboit ikl Sabla in 192010 highlight the difficulties

and getevanees of e daditn betore the government.

UOLOT e above statoments, Cloone e mast appropriate answer from the options glven below.
ﬂﬂll‘u’l\l (1) B o | B Statement (1) s correct,

Toth Statemwnt (1) ot Htatement (H) arecori I

oth Statement (1 and statemoent (1) are incorect,

atement (1) boorect bl Statenvent (1) b incorrect,

estion notattempled

AU '
wl s anARa wiel oaz i fig sl w wiand wenrsl i sl 19 g e w5 A

W
z-:- "*‘I"'ﬁﬂ"“ 3 toga 11 v i e el el st forenmerdl i s e g afeg
fcgepfaol o sl e Ll '

gl s anvees 1, e TRUT frqeeil i 40 T B gl

(1) vierdt &, ayfe et (1) 1l ¥

(1) e () il it ¥

(1) o et (1) el e ¥

p (1) e B, e e (1) rer B

il { Itajasthan 7
{ (h o inelustry of T asthi
M m" l“u“w"'.?t i h;‘l!:;l lllh""l""' Inlustry () Leather Industry
Tt:dllt? h‘nhlnil'_':‘ (1) Ouention ot attempled
! N ri i . " _ +
' “;il:‘\ :{'\:1 RGN s gl v de e syl B2 -
o "ﬂ'; e gl Fen
i ‘;g;}u (1) appalta 9l
| 15 PlToOo
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I )

65, Who amo - i iz in the Constituen )
- ong the followmg mov Objective Resolutions © RajendraP d
4 Jawahar Lal Nehru (5) BN.Rao
®) BR Ambediar (E) Questionnotattempted
P 3 55 o TR e 5 v e wge R Y
7. ‘CAZRI institute is mainly involved in research of
(A)  Mining of Minerals
(B Sustainable farming systems in arid ecosystem
Q" Animal Husbandry in Desert
(D) Land reforms
(E)  Questionnotattempted
e it T i Az SR T = I MR §2
(a) =EFEi=Ts=
(B) = Wii==iosl o3 | =TS F Yol —
© =r T
®) 4= IER
® FEaTs
68.  Which of the following dams of Rajasthan produces Hydroelectric power 7
(A) - Swaroop Sagar Dam (B) Mahi BajajSagar Dam (C) MejaDam
(D} - JawaiDam (E) Questionnotattempted
T =1 Fefaiad 3 3 59 W 909 Saiaga Ui S S0eT S 8 2
(A) =Y EIR AN (B) W I BOW FiY (© Henay
) I _~ () arawH
9. Who was called the Father of Indian Renaissance ?
(A) KeshabChandraSen (B)  Debendra Nath Tagore (© Ravindra Nath Tagore
(D) Raja Ram Mohan Roy (E)  Question notattempted
YETE QAR F A [ e T ?
@ FmEEREE ®) &= TR © etz 1u in
@) T T i (E)  STafa v
70, Fromthe options below, choose the most appropriate meaning of the underlined idiom in the given sentence:
Laila’s feelings “ down in the dumps ” is a temporary phase,
A Feeling very sad (By  Poverty (©) Malnutrition
3 Feeling elated (E)  Question notattempted
(D)
16

15



BO LR I shaty

s My
h\..n“ 3 v .
it q.‘th\\"“m"u !x;hmph'“" Wk s mostly wsed i
| Nutriont i ; SV wsed in the mangfacture uf_-mpvr]'l|“'*|‘|““t' which is utilized as a

) o i
.ll'm““ll (1 '-'hmph.uu |--.‘n|~:ll“‘ ity and flowers
s W Been docated at Maton, Karbaria-Ka-Gurha, Kanpur, Dakan Kotra and

Nevig,
Wl hill
' l‘.". LY LT | I .
Atvag the Avavalli tormation of the PreCambrian age near Udaipur and Jaisalmer

ghtot the ‘“""""‘-‘tdtvnu-ntu -
Sochoose the most appropriate answer from the options given below.,

Atement (1) s coprgeey,
ment () are correct,

(o ;
h_ .ﬂlih‘mﬂ“ L“ 15 W bk St

g goth Statenent (1) ang srage
ﬂ L :::::‘I;:“t t.“ and Statement (1) are incorrect
ﬂ state Lot but Statement (1) is incorrect,

4 ﬁ ,_Q\mllm\ not Attempted
AV R

:“m; RLEN IR VTG (S wp— . P
* B i g, IR Frwfetie 3 fomfor 3 weim a0t it &, < fos e, el it gt 3 o
Iﬁ?‘“ tﬁh_‘?"“ “?""‘. ﬁ_aﬁ- A1V, T, S1 e sift v veifedi # fea 13 mit 3zaqe sin
5 AuEie gl % v - Hiftamm A EY ST T

g e N, A9 fyu o fae 119w g s |

42

3H¥3WHuHﬁm%ﬁhﬂwmauuuﬁ%1
(1) af e (1) < W ¥

U (1) SN (1) 6 e

B (1) W & QA e () e ¥

|

feed includes

most appropriate option from below)

centrates and maize only (1 Roughage and concentrates only

o andd barley only (1) Maize, barley, pearl-millet ete.

estion not attempled

e wfte @A ¥

W 3aya fawed 9
LR TR

o v st ot fafaat )

() e e Sfi e a P
TWeERT, S, A geniy

e the highest wind capacity during 22231

option from below)
(1  kan utaka © Gujarat
() Question notattemp ted

mn ( fefe finfafe) =l W g ?

ndian state record
o the most appropr jate
milnadu

Rajasthan .
22 ¥ Wy fo vl W AEAN W AT

) ey g faced )
* W i (©) T
{l') a'l'*I'l:III'ﬁ'l uvi
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4, Wi  Hios
{,\1' i I1.#:|h ;:—1[." i;: pest ocean in the world ?
10§ ey i ‘
(1 Alantic {‘1::1"1 ® Pacibie Cottl d e S
& [ i I g i 1) e
fovem W wa wre weranT @ 2 () Question notattempie
(A)  arehfes merme '
. g (© Tég meEr
(D) sreelfed e Ei: :;"j;ﬂf;’ (@)
5 o LR
75, il @ gie A A e e g 2 )
® o T e
ars B Lo
) FEHR EL;. ST ¥ ol
76. Co-l wof i -
Cotounderof Non Al sement N on
) Sard :i'pi : iu = (B)  Jawahar Lal Nehru (© Mahatma Gandhi
fq{?"; lar Pate . (E)  Question not attempted
TS STEIEA (NAM) & Fe-Tems 9 ;
\ &~
((; ])) . ‘(Fﬁ;f;ﬁiﬁﬁ B) AR e T (© TR THI
: AR Ueel - () sruia s
._h. '..\FI ic il AT a +] ¥ >
77 C|"Lh\t ountry became the world’s first country to make abortion a constitutional right 7
( “mm]::* the most appropriate option from below)
(41'] ; :.ﬂnysm (B) Poland (©) France
( ‘;qm oland : (E)  Questionnotattempted
m aﬁqm_n%mﬁmmfmmmﬁamaﬂamuwﬁwW?
(Fret 3 ) wert Se fawe 99) e :
() weE ® O ‘
i e ‘LC) m
() TS (E) STIORA W
=8.  Which of the following banks is known as Bankers Bank in India ?
(A)  Indian Overseas Bank (B) Punjab National Bank
(D) Reserve Bank of India ()  Questionnotattem (G ShteRanket lndis
it A e S w1 e S SFH R e
RUT T W S ?
(A fem s dF (B) IS AT g S S
) v e 9% (F) A v = e
79.  The Rakha Copper Mines are locatedin .
(A) Madhya Pradesh (B)  Rajasthan
@) Odisha (E)  Questionnotattempted K oo
2 R e e e €7
() ¥ T« By TS
i . - © wrEs
o) 3nfE, () SRR o
g0. Which of the following Constitutional Amendments gave constitutiong)
Raj institutions in India ? alstatus and protection to the Pancha}
,:,\_} }_5"‘ m] -_',"gml-
{1}_] ?4‘]. L N ) (l-'_] h(_:l'l.tu_qli.nn not -'I.liu._lumd (C} ',T-'ﬁhl
ﬁﬂfﬂf@ﬁﬁﬂ fop A T & a0 T Wi ) s -
@) 759 a 7 Y T S e WIH 2
fL“H sat () TR J9 7
18
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ﬂp\ﬂ“g questmn each
fﬂ setof numbers follows a similar pattern, find the missing number (7).

S @ WW@wmmmm?aﬂﬂﬂmmmm'
V q
w/s © 1
19 (E) Questmnnotnliemp!edf ﬂﬂf’am .
"._ﬂqmﬁﬁﬁﬁﬁlﬁlmqﬁ% ?

(B) #FEiEwA
of the following Iron-ores known as Iron-Carbonate ?
(B) Haematite ' (© Siderite

: (E)  Question notattempted
A ¥ e B S FEee F w9 F S T ?

®) &R © & ELiECS
® ST
e current Chairperson of Rajasthan Human Rights Commission ?

; lGanga Ram Moolchandani ~ (B) JusticeN.K Jain

e Shri Ram Chandra Singh Jhala . __{D} Justice Prakash Tatia

on not attempted

T MR ST 3 ST i € 2
i v T ErEE @) R S
i st T fiE e (D) =ATfd W

f which of the following trees can help to prevent forest fires in Himalayan region ?

most appropriate option from below)
(B) Mahu () Rhododendron

pine (E) Question not attempted
) ST

P l‘d w ith

Flood’ is associated Wi (]’.-] Grct" Revolution (©)  White Revolution
() Question pot attempted
@ eaHd © vawifad
(©) gt 9

19 P.T.0.
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87.  Inwhich year was the High Court of Rajasthan established ?
(A) 1951 (B) 1948 5
- sod / FACIE T
M) 1950 (B)  Question notattempted/ T
B8.  Choose the most apprapriate indirect form of the given sentence:
“Wait for me at thebridg”, said Rahim '
(A) Rah::!n requested her to keep waiting for him a4 the bridge-
,\[%},/thlm told her to wait for him at the bridge.
Rahim asked, to wait her at the bridge.
(D)  Rahim said that you have to wait fo, meat the bridge.
(E)  Question not attempted
89.  Which of the following tourist centre is located close to Barmer ? Sherga
(A)  Sam Sand Dunes (B)  Kiradu Temples © e
(D)  Natanion ki Haveli (E)  Question notattempted
ﬁmﬁlﬁaﬂﬁq&fmmqﬁa%ﬁmfmmﬁm%?
(A) TFEBRFTIE ®) frgdm — © R
(D) FEEE F1 Zae () FEfEws
90.  Which of the following states has the highest solar power generation capacity ?
(A) Kerala (B) Rajasthan (Q Tamilnadu
(D)  Karnataka (E)  Questionnotattempted
=1 5 3 e v B A 5 2mme v s s e
@A) FmE @ THEH © dEEg
(D) FeH ® wEErayE
91. Tea is an indigenous crop of :
(A) India (B) Britain © China
(D) Srilanka (E)  Questionnotattempted
= fra 29 = UF S wma £ 7 3
©) e ; () FHIaiawe
92.  Which of the following input devices allows to input alphanumeric characters and special characters into
computer ?
(D) Printer (E}  Question notattempted
ﬁqﬁqﬁ-ja‘;ﬂ A B 92 fearss, v i (characters) mﬁﬁqm{chmmrﬂ T S v
GrAfa Tm g
Wy et ®) @ © W=
o fer () I
_ Firsthuman to walk on the surface of the moon was : ;
9 (A) Sunita Williams (B)  Yuri Gagarin © NeilA
(D) Buzz Aldrin (B Questionnot attempiag S eneng
<zt & HAE T HOA ATl 9wl Wi ¢
e fafeas ®) 78 i A
(A) (F) Faf@ays & ami
o =
20

~ B23
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person hay :
M‘a‘; . % aTi}‘f?!d the Post of Chﬂifman of NIT1 J\J}’Dﬁ since its formation (h“ _]I.Ilj", 2024) T
¢ 1 .'-q_ AT

T (Jemd, 2024) fary =i Ton svny WA 9L A 50 87

®) 5 © 4 L0
gL (E)  Question net attempted / Fqafa we
., ofthe followi . .
o q!l!‘lelt;;:'mfg Bar'-ks. Was originally named as Imperial Bank of India ?
j fgﬂtﬁ . of India ®B) Reserye Bank of India (Q State Bank of India
T oynjab Nationa) Bank )
_ 4 P _ (E)  Question not attempted
T W e & 5 e o2
= T 4 ® s
s_ﬂ?dllle Was added to the constitution by the 7374 constitutional amendment of 1992 7
1% ®) 6o © 7
B (E)  Question notattempted
T, 1992 R Hfaum & FR5 s s 0o
0T () FETH
g7, What main function of central processing unit (CPU) in computers ?
To process data (B) Todisplay data (© Totransmitdata
Tostore data (E)  Question notattempted
@T H=a T g (CPU) T g s E 2
2l 1 WHER e (B) @iwe w1 w2l Fo © siwd T wSfm s
e 1 wufed w0 € HfawE
is the festival of Kajli Teej celebrated in Bundi ?
Vana (B) Phalgun Q) Bhadrapad
(E) Questionnotattempted
Faet i 1 wIeR 941 8 A e €7
B) T LS~ wewe

(F) A el

most appropriate option for the passive form of the sentence below -
the church bells as a flood warning

church bells are ringing a flood warning,

church bells were rung as a flood warning.

: flood wa rning, the church bells have becn rung

A church bells are rung as a flood warning by them.

tion not attempted

21
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W Whatixa Spevial Economic Zone ?
(Chovse the most Appropriate option from below)
W0 A unique zone which s subjected to higher taxes and duties.
(B Aspecial zone created in the capital of India tor cortain entitics.
Q Aspecially crvated area for those with income of 1 crore and above Peraniiim.

= . : le, duties
@ Aduy freeenclaveot development and is deemedd as foreign terrtory for the purpose of trac '
tarith ' '

B Questionnot attempted
Aty afds Sy s

(= 9 R v ot fvwew W)

Y Fﬁﬁﬁﬁmﬁ&mwﬁﬁmhm

® W w T ¥ g sl ¥ i s g v R 49

Q ﬁﬁt‘mmmﬁ&ﬁmmmﬁsﬁwﬁ%ﬁmmwﬁtwﬁﬁﬂh'

O S O A O 3R SR, e sl e & ste @ ke S e s
® swfave |

101, “Golden langur’ is main fauna of which of the following biosphere reserve ?

A Manas (B)  Simlipal (©)  Great Nicobar
() NandaDevi (E)  Question notattempted
F=iates 33 i I ariw O w1 g o, ‘e e 2
(A) TFE ® fafem © HefmEr
LB S ®  SERa v
102 Which of the following state is known as Molasses basin ?
(A) Trpura (B)  Manipur (©  Mizoram
(D) Assam (E) Questionnot attempted
F=aEs 1 2 9 W T e A m ST S e am 2
@ fFw B W © firsirm
D) F=H () ITaiE e
103. Who was the Chief Commander of the Mughal army in the Batle of Haldighati ?
{A) EKhurram Khan (B) Hakim Khan h .
© ManSingh ® Question notattempted ©  MehmanSingh
= ¥ IS T S 1 §S [l w1 w2
(A) TEEA ® wiFar © .
Dy T fiT () Efawe e
104. Which of the following area did not cover in first stage of Indirg Gandhj :
(A) Barmer (B) Ganganagar t Canal Project ?
(D) Bikaner ()  Questionnot attemptag © Hanumangarh
ﬁqqﬁﬁmuﬁmﬂ%mmﬁmﬁﬂﬂqmmmﬁ -
TR B TR Y
0 S () i v Q =g

O
22
~ B23

21



‘tblﬁ"‘ aretwost; Uemeny .

{n: Nmer

¥
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tina) Ve m of ,::“Nﬂ ant centre of political awakening and socio-cconomic activity from the
“ineteenth cent

an:  Inisss Centuty,

x““““-&l n:--lh‘ trom Ajmer - Manwars pa rticipated in the Allahabad session of the Indian
l.

State "Tents, choase the
nt (1) is NCOrTecy but Statem
Statement (1

Statement {I].

MOstappropriate answer from the options given below.
ent (1) is correct.

ang Statement (I are correct.

and Statement (1) are incorect.

, trect byt Statement (1) is incorrect.
m notattemprag

;ﬂ:ﬁm’t% mﬁ%mmmmmaﬁmmm%mﬁﬁ
il

: T8, mem#mmﬁmm#yﬁrﬁmﬁ s feran |
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& following file extension is applied to a MS- PowerPoint 365 Presentation by default whenever you
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® -ppi & o
® Question not attempted / SR We

- inci kes 7 revolutions in 6 second
i . cumference ma et s
; Bf_ the engine of a train, = melers ncir

of the train s

. L s & 3R aE 6 FawE TR T R @ ey 3% ure
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108,

Tl £ i rrect option
Ihe [;rlli Lwies hﬂ”rl‘ e opt],ﬂ‘ﬂ‘i dm the Qo

y T odre H"Id!l-il noa e i or. From I'_he f',i“'
r--,|ﬂ|,|1.}h the similar relati FLain manneer, kr . nmafk? .
2 1 k dation with the third “}'IJI’!'" replace qu#ﬁbﬂ = m;
T, =) wvgfit v fafeen I o] 79 FA 79 5 '

_ AN D Tl ) ey gt AT
T e i S e s it

by

(E)  Question not attempted / 27711 woA

[elalelele)
000000

)

ooooee
[elalelat)

109, The artificial satellite which is seen at fixed position when viewed from the same location is called :
(A)  Geostationary satellite (B)  Non polar satellite .
() Polarsatellite (D)  Remote sensing satellite
(E)  Question not attempted -
7% A T ot 30 v A i T T i feat (frg i) # TS €
& v-wAfaE 3Te (B) 7 W TYUE
(©) TR T : (D) %74 H{GT (Remote sensing) STIE
110. States Reorganisation Act was passed in: -
(A) 1956 ®) 1952 © 1953
(D) 1955 (E) Question notattempted
T TAEA afufTan e i gen ar? =
Wy 1956 H ® 1927 © 193 F
D 19554 (€) AT
111. Integrated Child Development Scheme (ICDS) was started in the year :
wFia ar g A (s E g, fEa 9l 9 w2
(A) 1985 ® 1970 © 1975
) 1980 ()  Question notattempted / S¥fta 7y
112. Inhow many agro climatic zof‘es' 15.-the state of Ralja-s-th_an divided, for the Purpose of agriculture ?
FFETE@ Y, mmmwwmamﬁﬁ\mmwg;
() 20 & 2 % 10
o 12 ®  Questionnotatiempted  srgufis e
= oot 7 fafed AEE §
i, WO eIV
)
() T S ©  wdung
D)
24
~ B23

e A R RS B
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- (). () - (iv B (a)-(ii), (b) - (i), () - (D). () - (iv)
- @)- D) Gt by~ (o) (-1 (-

(B) ot ¥ AR A A wiE AT
(D) i fiw et ks s s s |

® e ™
; (E) ST
of World History”, book is written by _
3 ‘h:rta'Gandhi (B)  Jawahar Lal Nehru (©  Raja Ram Mohan Roy
mzligt;;;}josh ® %(-luestion not attempted
Al A fesdl " e fomer foredl €7
i (B) IR el TEw © T e T
Ll (E) - SHHE ¥ -
's national flower ?
(B) Lotus (© Rose
()  Question not attempted
o FiAE €7
() ® F © 7=
(E) aiﬁﬂﬁﬁ T
most suitable word for the phrase"l-'it. to drink”:
and Saline () Potable (©  Venial
3 (F)  Question not attempted
T e e €7 _
(@) el ©
®) S
is an antioxidant, fat soluble and obtained from plant oils :
()  Vitamin Bz ) VitaminC
(F) Question pot attempted
LR mﬁ@q{raﬂtqﬁﬁﬁﬁ?ﬂﬁﬂmﬁﬁmﬁﬁr% :
T ) fafeet @l © faafas b
e () grafed 99 -
0
- - PT.0.
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== Whic
ichof the following
[“"\} ?.l'lh n\t\ amenddment act p : i
O 73 :I:':“ h.h::]uunw\'.u1-.u-.ut ot o awonen, in the b Lowal Do
TR T £ i i L) onb
mj-[ ? 13 e W wivenad, ¥y W ‘;m Questionpatatempted
b ¥ (3 B L - =1 Ty i . 1 x
& R TRI™ %) W fn ffElm DR IRETIRL LT ”yh"-,' sttufem o
£ 749
©) 7§ @ ey ) onfl
123. InPowerPoint pre o ﬂﬂ“ﬂ“ -
presentat ; :
(Cheson G st ut lhi*f!. animation mainly dacules,
(A howthesk iPP“‘Puute option from below) '
& S B A
®) 3 '*'1.1“ items in the slide appear. : ho the sdes APPEE
Question not attempted 1 D) howthe toxtlooks,
faaTe= ¥ty ¥ ofi
(Fr= 3 & vl ﬁ@‘;‘!%wﬁuﬁmm%?
Sage s g)
() TR t ¥t X
i B wES
© e g i R W 7 R IRER S Bl
S i i Q- T AR e dm
124. Which Of the fol -
l . i | L.
@) Hotmad owing is not a social networking website ?
™ ~ X (formerly Twitter) {é}t El\ﬂ::k (] Snapchat
& R :{;Tﬁ:g ;n notattempted
(a) weIE '
: ® ¥R
O X (@ fEx 0 ®WH
R ® S ©
125. All the aspects of i :
population are discussed inwhi
(A) Cartography ® in ;:.Eh :\! the following subject/science ?
(D) Oceanography Saifesd ;
frfafga 5 2 ﬁi‘;-ﬁﬂﬂ! ¥ i ﬁ?p“ﬁtmn notattempted (© Demography
e iR
. ® RfeR
) - PG . © seifeT
126. m-imwfaﬁ srvivera 3 w9 A e TR W wam e W
gf B wEE
@) ¥R ) S e © waE
127. The profit earned after selling an article for Rs. 680 is s
Rs. 426. Find the half of the 50% of the cost prig:: 1 same as the loss incurred after selli
(A) Rs 1382 ®  Rs. 190 after selling the same art
fD) Rs. 148.35 (E) Question e 1g
g 7 60 T A i S aﬁt:::\th::glhi B eIk
Ffa 26/~ T W Ay
ﬁ;amﬁﬂﬁd w g wf % g ¥
@ ¥ 138.2° ® 1% Q-Puﬂ
@ F 148.25 ® SR v © 150
26
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—, v 4 y

o teristic of the ¢

Cagd Mputer i,
o g Giorage e dat: Information and programs is called :
| a I 7 fafa, [’E} Ewin (C) Versatility

fﬁ- Py i, T ':?Uushnn notattempted

ﬂﬂra 2 mm Tl 1 vy fogm v #, A% A 1
o i ©

d half of the Engp] aﬁﬂf{ﬁm
l'# thirteenth ,g ish alphabet ‘afte
1 fﬁﬂ%ﬂ "a;_j;‘;kr from the !r_-ﬂ un.:jt;rM is Written in the reverse order, which Jetter will be sixth to the

'ﬁmﬁmm? R A Sy s gy 4 Fee < A AT B B A0 e % 7 AN
Mo P OAASTUN WEYZ

Y ® H I ik
o U il <0 ) © T o @°®
qates created in 1960 estion notattempted/ FATA_ o T >
The ere: w L
13 o Haryana and Himacha| Pradesh -g,;-’.'*‘
0 Maharashtra and Gujarat (B)  Maharashtra and Punjab
Qu;shan notattempted ) Manipur and Tripura
ﬂ‘l%ﬂ ﬁl:‘iﬁ'l Eir| ﬂ
o P S T ——— ®) .y
HEZ AR 9=
0 :mzrr-:: 3 e 3
o s (D) =T i g
mﬂnﬂhe following district has highest production of cotton in the state of Rajasthan ?
B I"’gme' (B)  Jhunjhunu (C]} Bikaner
g[ ang:ﬁ“;ﬁ:" ;ﬂffE] Question notattempted
mﬂ FUH T 7E] AfaF —rqm' F4 gen faen 2
W (B) © H=
A @ﬁ T E) aﬂﬂﬁﬁ T
1 lﬁ?ﬁ_ﬁb&lﬁummu on traditional medicine was organised by the World Health Organisation in which state of
wiitu}amt (B) Kerala (©  Uttar Pradesh
: Hfhmﬂtakﬁ (E)  Questionnotattempted =
h{MW mmﬁﬁﬁimmﬂ%ﬁmmﬁqmmmmn e fFm T 2
H ® s =
N g ®) ﬂiﬂﬁ“ e

1!1

“ﬂu s context full form of CSIR is:
4 ' C"fpﬂrate Social and Indu strial Research.
3 Ir:‘f’l-ll'l'r.ll of Scientific and Industrial Research.
Council of Science and Innovative Research.
Council of Social and Industry Reproduction.

& P.T.O.
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134.  Choose the most appropriate English word for:
(A) Processio
(D) Prodamagon % gmruratinn o (O Proconsul
ti tt
135. A candidate who gets 20% marks fails by 15 “(: ::nn-::-'ta emp il o arks gets 12% nu
. : TR 15 marks another candidate who gets 42% m
;g?;j;};;l:;iﬁmark& What is the :_Pﬂ-‘*Sing mar].;; wt another 24 e
i 3 100 T SRR 15 311 4 gy £ 1 , S 42% 349 W T s g
m‘?fA EIZ?Eaﬁla?mﬁTﬁﬁﬁlmﬁhmﬁw%? . -
ED; 43 ® 30 “ 2E e (o R
o (E)  Question not attempted/ FFH1@ 7
136. ::o:;'llch Igf the t'nl.]uwing is the largest zinc producing mine in Rajasthan?_ | ling
ayad I'v!me ; (B)  Rampur Agucha Mine ~ &) Sindesar Khurd !
D) ’JawarMme - (E)  Question not attempted C‘gy_\(
ﬁmﬁ‘émaﬁmﬁa@@ﬂmw £7? =
A)  FEE T ® TREREEEE __ (O R
(D) “ERETH B wFETE ﬁﬁ \w
137. The first Chairman of NITI Aayog was : 22
(A)  Dr. Manmohan Singh (B)  Sh.Narendra Modi (©Q Sh Arun]Jaitely
(D)  Sh. Arvind Panagaria (E) -~ Question not attempted
Hifa A= = ¥9g 596 9 :
(A) =i weEE foy ®) 5. Tz EE (Q S0 37ew St
(D) 1. e e (E) - ST e
138. Whatis the percentage of reservation for women under MNREGA Act, 2005 ?
(Choose the most appropriate option from below)
T sfafas 2005, % Teq Hieensl & fou smem = viowa fsan €2
(f7= H 5 Tad uga faswes 99)
(ﬁ) ';G% (B:l 20‘”‘6 \ID_. 25.\9
D) 33% ()  Question notattempted / 3wRa T
139, =AH | F4 'GEA T UEEaEt w6 e ?
(A) FH JBy T © =fEH
D) HFE (B SRaw
140. Choose the most appropriate word to fill in the blank in the given sentence :
If they _ _that picture lower, people would be able to see it.
(A) don't hang (B) \_hung, © _hang
(D) would hang (E) ~ Question notattempted =
141. Rhinoceros are found mainly in one of ihsu ﬁ]”;“'-il_‘lg ;"]\".1liinn.1!| Park/Wildlife Sanctuary -
(A) Mhadei () ¥pa rang: (© Periyar
(D)  Rajaji (E) - Question notattempted :
wg@ﬁ;yﬁiqmmm‘ﬁaﬂm STV ¥ 9 S # 2
o) pa{ i s © ¥
o T -
28
~ B23
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142. Whatshould come in the plage of question mark(?) in the following alpha-number series ?
ﬁﬂﬁf@ﬂmﬁwﬁmfﬂm % T 0T s e ?
X4Z, TOU, P25P, LA9K, 7, D169A.

25{1\) G121G 20 e (B  HI21F © G8IF
nl .
= (D) HSIF — X\ (F)  Question not attempted / 37 ¥
143.  Whichcity of India hosted 141% International Olympic Committee Session ?

(A} Chennai S A B)  Delhi O Mumbai
() Kolkata ()  Questionnot attempted
T ¥ e TR LA sl siifes wfhh v W st fea?

AN = ® et © =i
D) FrEw B FgEEvE

144. A person is facing East. Then he turns 135° in clockwise direction and finally turns 180° i ansiclockwise
direction. In which direction is he facing finally?

(A)  North- East (B} West 0 South
(D) South-East ()  Questionnotattempted

o = g e F ik ghms $156F w155 m*ﬁmrza*?rﬁ s 180 TS S i S

=

Tt oo kg wFaad?

KA FTE @B W

D) T E) FTERAES
145. The movement for a Separate Andhra was called as ‘

(A) TheRegionof AndhraMovement  (B) The Vishal Andhra Movement .x 9 -

(© The Vishal Movement (D) TheTelugu Movement S /‘_:;

(E)}  Question notattempted ax n:_ g

3 Ay & e gy HATEH F1AE 91 = i ‘\:;

(A) wiy & AR ® e s sEes ' ED -&'ﬂj

© o wEEA O) o SR e ES

B FafawsE . \“ ‘

146, Choose the most appropriate Hindi translation for the given sentence

erangerisju:-iifit'd-
Y g T A B B) Y R A2 § © sHr=dsizam

0 sSwmTEEEER T E (B Question notattempad

~ B23 29 PT.O.
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W MR T e RENNNR W ARSI AN

‘*m‘ wobentif

\

BN R AN IR A AN K

55 R ORISR TR Sy
B QRS e

R i IR NN S

AN e IR SN b R RN S

S e P AN _ : A Fa il
TN AR, Bt o DAl B g ﬁmmmmmﬁmm
e B i Tt e .
W ?Hm-&tﬁhﬂam\ ,
A R
T Tahet e Ry
D St OBl i S 3 :
B SRS
MR OO NI D RN AR R =
A\:ghm‘ﬂ'ﬁw:‘w N W
A N @) Qavity ol h“n“ N
15 B LRSS A Queton R ARSI 3
MR T RN R S KRNI The et KAVRNS ¥R Nha i Maya. How i Nehn talated to
e
PO - B PenRlAnm € MarmalAunt
1 ) R ey QN AT i
w2 RS B mﬁtﬁw"&wﬁﬂ?w%ﬁr%ﬁﬂﬂaﬂwmh
D e ) wﬁ 1
= w\ﬁwsw-ummmmﬂ it a8 Tndtipe Saraswati Ohvilization i in Pakistan ?
A Seoume 5 Thawem ) Raipur
D e B QuelinnRameagid L L
“thﬁ*%ﬂﬁﬂmmmﬁtj
e = m e S
e M g ‘“"‘if‘"r Nt
: oy
QN WY
w08 S ER.
0 &
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